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1 Question Description FiGaT Y THTVT &84T SToRTaTeaT Joad Ha= [Gar Jeger?
A ST R%, ReRe
B ST R%, ReR?
¢ ST RE, R0
D S 2%, 2092,
E AT TFFT
Correct Answer C

Marks 1



Question Description TTE SATHAT [T ST AT Hehclldh AT, T oA —

A T Jq0H &7 AT [431S (67 o0, AH|dr, T T UF 3 a@rdd &< AEir [4rs f4rs 39 smear.
B Teh HTO AT I |G HIEHT U 3T ST dnd, a9 T & ¥ HTEir AEer U o araradr (s fomrs 3aet steare.
D I &7 TWHER F890AT 319 & S0 {HATd, = T8 M1 Sdl A -hes o Sia-T SEr 397 Hg, St
E CERRREERE

Correct Answer A

Marks 1

Question Description @ [Roear aferar T H0TeT STRUT Riadr-Sol IoTarsT S ?

A grya— @R ANTE AT

B Ho o TS

c AU TS

2 o g

E AT TFgT AT

Correct Answer B

Marks 1



Question Description

Correct Answer

Marks

FTRUT T ST /T It etiaere fa= [T Sfram arer 1= 9t IS, ST IR a9 ST T dsodr 9rarE!

Heb ST ATUST, §odar, 2l RTai=r 75T Sradid ANTeAr. 379 Q=T 7547 ST ASTdl $savar dal o AT eredr?

Ao &7 H=E (9553929\9)
feereg &t & (9522992
FICI ST (354 ¢ 952%.)
ST faee] (95194 92.39)
AT TFgT AT

A
1



5 Question Description 3. TIefAd T Al Sa-dles eRled] FHU® SISl AR

37, SERT IHT
37, 9IgdaT #A1ehy

T ARSI TN

S. TgaTer fasop qudie

A T —v, AT —iv,§ —iil,g —ii.
B T —ii, M — i, —iil,.E —v.
© T — i, —iv, T — v, —ii
D T —iv, 3 — 1,8 —ii, § — iii.
E AT TFgT A

Correct Answer A

Marks 1
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ii). o§-0¥-22ly / R3-0R-2Q%0
jii). 2¢-0%- 2343 / IR-0E-Ro0E,
V). 23-0£-2R33 / ols-2¢-Roo(
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Question Description 9233 FET @IEAT RV FIATHAT ITATST ATAT?

A araear

B T

c MrTAY

D wHShHA

E R TR

Correct Answer C

Marks 1

Question Description AOTaeT Reiaoa T Ridul aedi= faot 56 aie ded Jdrd ?
A FHTSAT=AT ATAAT AT Y37 aredr

B TATIR=AT Ardr AT TOadiedr arad
c ARG TdodT aTedr AT Jaiaedr arad]
D JBET=AT ATATT AT THTSE aTAd]

E BRI

Correct Answer D

Marks 1



Question Description STIHATAT SUTA &I LT Sidhull aTadT g cqdhal i

A Fheid WidsT, HaT

B VAT AT =T &, 3T

c faeT, Fegdaer

D HecTeh AT =0

E CEREREERE

Correct Answer D

Marks 1

Question Description TUE ST, TUE. TEAT T &l =87 FITeAT HaUTHTd &t AT, [fa=et argaAmredr Taid gi a3 aurg= ar 3ar Taelm

|, T AT el I8 AT W 98 8§ 8= SH9H . - § U 07 ded?

A JIE AR
B R osl

c EERID A

D 0T AT

E B T
Correct Answer D

Marks 1



10 Question Description

Correct Answer

Marks

3. Slo TH FHellgd ARAET et e I d FMIhh THad gsa.

3. GFrST AP JEUTH FhshRIT JMelidd see@oia emiiiis eus fea.
7. O FEPTEH g JINelcodl SEEoiiar e,

£ =fo FAAGWIT TGHATS HIddT TTERTS ARNGH aTel.




1 Question Description FiRUT AT ATAT @ Fellh ATlgcd JERT [Raar GEI=r Fiar |

A FiUIT WTIT HUS e, f&o THo To T RHUVSIA, HiT afgeT ThoE

B ST famer T 7E, o THe To T RSHUSI, RIHUT WTHT AUSS

c STHAT faaeT T e, o UHo To T RISUSI, HiwuT dTfger 9T

D FHIRUIT |TIT AUSS, o THo To T WHUSI, MHdH AT(EcT Had AUSE,

E BT T

Correct Answer B

Marks 1

12 Question Description STTST UTEET BT WA edT 36 ¢ WIET=4T AT ar =T aradi =41 G9&uTs g TUE T Id el 3T S &TIM=Er Ar9resl a 190

FAGUS TIAT?

A e fafsvafes qe it 3vsar, sne 9239

B fafsTafees e A U=, 95259230

c SR 909 3Ates S{UST, 9525923\

D ST A A STdo UUS AL TS =09 3Hieg [0S, 95592\

E B THGT T

Correct Answer B

Marks 1



13 Question Description FoaT | ar fTeAT Sedis A4S JRd

A HIAT, & AT T aSH
B TITET, ST AT FFer
c TAS, TAF AT TISA
D T, TeIAT A Tafar
E A TFET
Correct Answer A
Marks 1

14" Question Description AT oo Siteg ATRAT — U SiieaTd 9 (95.2,9)" &IT oAl -Fodid “Fol Tead Fefl” &lT FgT=re ST G FT shed 2
A & HIF
B fErfaue Ustew o=
c HEHY qEeS
D The ShieT
E BT THET T
Correct Answer C

Marks 1



15 Question Description AN ATeT’, A A= AT AT U &1 &7 g oAl ar ATeaha FHior?

A USHld AR A&
B STET FHT AT BHT
c TERIIT THTER T TR
D HIT ¥R
E A THGT T
Correct Answer C
Marks 1
16 Question Description A, AT AT AT dhdh, Tl FETEUT [T, AT T 473, Tl TMAUA ARTEe AT a¥Td fdedl aTe], TS 9rad

TG IMEA AT AT IT, 59T WA, TId AN ANTAT. S qraar, MU e 965, ail A el 933 ARG Siiefel S,
ST O, S AT [ dhetell, ST RS delof o Gerdr 99 - & W @a=aT TEad aer?

A S e, T e YA

B SFANTETT T T e, T ff=mny e

c A AT =41, Tal A AY arearsad

D A= A=A ST qedaveIT, T&l AT Ag arearsad
E A TEFT A

Correct Answer C

Marks 1



17 Question Description T &< Udh I § AfacaAqd=r T Hor?

A o dro HETIT

B fére Sto Gro ATeRTOT
¢ gy frrg

D TTo STe fEaieeT

E A THEFT T
Correct Answer A

Marks 1



18 Question Description TR AT oA dl GUTH [Tdt Uar Ferde IAard s ANt aidedT Fardl fihule fed - a9 gSei A0 AN FHATdT,
FeTiaTat, wrafirar ar 39 I u e, Faal Hsed™ ATTTIhd STad AN . FSATAA IHTS RIRUI ATTAT AT 30T Sa-T
Tead g Sdd AT .”—%‘m-uh% T I ?

A FIT AT ST T (T

B T farsy qust

c ST FTHAT

D AT ST

E RN E R

Correct Answer D

Marks 1

19 Question Description Hitacae AT AR T FAHEHT TORT AT 6 gl G TSl A

3. qUSCNh ARV ATAH i). 3R, 2299
3. ZANH GESUTHRR ii). Tk, 29l
3. ST BAMOsH iii). fae, RooR
g, ofrer FiagFR iv). HTe=il goTd, £R0¢

V). TIET, 2Rey



A T —v, AT —iv,§ —iii,3 —ii.

B T —il, A —iF —iilE —v

c T —iil, AT —iv, T —v.§ —ii

D A 3T —v, 3T —iv,g —iii,g - ii
. AT TAFT T

Correct Answer A

Marks 1



20 Question Description FiRUIT AT ATEdr g HTar AT ATehai Sarat aiTsT ST, FINNT, TR THRrem-Tasior a= T4 Sa-r-2aTor 219w

TIATCHE Teahi e g Aaid Sdd ST — & 8 07 A GI=AT Aaid SIaArger?

A MU RIDEICE
B JUSHIE AT A4
c ITHET &Y ATTH
D THEHT JAHT
E AT T T
Correct Answer B
Marks 1

21 Question Description FATAT A oAl &T FAT HAAT=AT HaHId Fdlel A1 AT TRIT a6 & AT G d SAThT T
A 9T W, 906
B HTe AT, 92,24
c HYT AT, 92,93
D GIRIBCII A ERY
E AT TFgT AT
Correct Answer C

Marks 1



22 Question Description HATHAIHD & . MGerard T ol Arfgcaddl =41 Arfgcayamiia ArEaraar?

A I

B FH AT q0
c AT qu

D At -Fa=r

E BT TG T
Correct Answer A

Marks 1



23 Question Description 2. At AARABR 31 AT Dol Hrfecaad sfledl THUS Sired! ofaTd :

37, 37 o[ FRarelr D). AR AT
. S SoATH & Hislr ii). 3McAT STIRTH
3. 3 fadee § we iii). Tg3mel ATl FAea
S. S0 3o FHITHET iv). ST HATeTHed
V). T@T HERT

A T —v, AT —iv,§ —iil,§ —ii.

B ;M —ii, A —i,F — il g —v.

c T — i, AT —iv, T — v,3 —ii.

D T —iv, 3 — 1,8 —ii, § — iii.

- AT TG

Correct Answer D

Marks 1



24 Question Description TR, T AT SqaT AT A T A g gl A ?

A I EEEG
B SRKEDY
c AT
D ANTHUST
E AT T T
Correct Answer A
Marks 1

25 Question Description 9°.2\9 &T TET AT ST &Ui=r avi & S Arfecagal vl AR dedl ?
A SIIHTAT QUM
B TR
c I AEEFT
D HIYT AT
E A TFEFT T
Correct Answer B

Marks 1



26 Question Description @O faaeT TR A
. qTICAT i dar TR oY AT E TE ST =T ATCHIUTcH S ArefTeadlT;
AT, & & TS, “SHEE, “FATEes”, I AT G8gE anl” § THIT il Radr $o.
T. Gola I gl areq JOTET STET SiaHr &]T arear THHIEdE STHael YT STRIETU ShaEr 92,°.2 000 FAT @IANET
TS JIERT Har e,
g, ST FAUSH &A1 ide Hiqar-sodid 2000, AR SARGHNET TLERT ATgal.

A H-AT-T

B F-3;M-3

c H-3-%

D A-T-5

E BT THET T
Correct Answer C

Marks 1



27

28

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

T AERaATIT Ty [aererarT FE e anlel AT -aTTesl HeArdl [R¥eT. & R¥el ST ISeT, Y9a7=r aer Iddd AanTdr.
faiTs favTs ST =T =T 8 Prvehah AW, T

AT QT ST (SiaY SR ST, —AaH AT HERAE & AaT{qIaT Sl 389 hei ?

qUSeATSh ATIIT STUS]
U AT A
FIT T&HIT HT
AT A TFET T

B
1

R AT STATTIA TERT Fis IS ANTEN SMGTdT; Tod (e e ¥ a = T dTfa(cddh 1 Uhd Fdie S0 Jdrd
IO (a9 aET

7 faae g

BT TFFT T

Cc
1



29 Question Description =47 QAT A, & @Sl ara? Ha HTa ol SAET. HICAT S -HTar=T gl AT GHNE JaTd argqaed = gl
HET. AT AU (97 8o & &1, AT ST S S ald. hidhuild TR AT 78U, Hihuld ST aror Frer av faer
HaWITd, [ Ades :7aTd qHaE 999 ¢ Jad Ta. [qar [EEradm=T st ar. & arae Jidr =29 90 af 98 T4, THAEET,
ESfasar. TAT STTTHTI T doedl araiid AT T 3 daar HrEr= (AT SIS T qHa G19 Siaet S ey
AT G0 &1 Sad SIder.” - & 918 &0 =rfcror?

A TAN AT al9g% a7 o LRl
B AN T TET & Hvod

D~ ~ o
c AT Ga{IaAd #aleq alAe
D Fredie amTes & Feed
E SI@(‘I@ EC RN
Correct Answer A

Marks 1



30 Question Description FfGaT ATHETT AT &AT TeHIATeal Ic0d I Gdr AAT?

A A AT 30, Q0019
B ArEAT 30, R00n
c AT 30, R00°,
D AT AT 30, 090
E AT T T
Correct Answer C
Marks 1
31" Question Description T s GROST AT GG ATGH TS S Ehara STefw AT, G a% aeqedider T Sehard SrasT AT, 2390
HAW IS &I e ?
A FAHI TATAT AIERT
B fammareR AT ST 9w
c A THFIT IOMEr o
D FTT HRAT (TATBHRT
E BT TFET T
Correct Answer C

Marks 1



32 Question Description @ feedr A faEar ai

A TR, Fes, ad, ST
B AT (FHTY)

c HAT (TS8T)

D Faer (Fgarm)

E AT T
Correct Answer D

Marks 1



33 Question Description FregeA=aT TeAT Jal HIaL Sra+ Jaaeti

A {TaT STTe ATl AT FeAT TeAT Hiadel” & FeT=00 RIUTedT MTanTdide ?
B THH I

c YR WIS YA

D AT HIHAT

E BT TFFT T

Correct Answer A

Marks 1



34 Question Description AT’ FE AT Tdls YT GeHa T Jaaiur Aol I 3N T FE el gatad Gave §eAared IaaurEr {re
T3 SGd T S I e,

A T e avaT
B T faarT g
c ot (e a6 [ 9&
o et fra I, gLt e
g AT T
Correct Answer A
Marks 1
35 Question Description FUT-2TE &T W_@v—ﬂq-i—d- FIUTT T S9TE=T SITeT?
& HE HETETUS
e HE TS
. HET FHSHT
D I BTS AT
- I T
Correct Answer B

Marks 1



36 Question Description

TYTTaSITRS Ja2 AT ai=r Sl HToaelr o7 &=ar GHYH ST JSATT

3. cgTeTs 3TeT cgisged ). dT@d dsele 37elr WiegTax
T, 3CREIICE 3T TS ii). TaeT 3TeT TS

g UFgvue /| T&H 36T sAeaerT iii). IR HT 37T aTFARN @
g i 37T e iv). 3TeUYIOT 3Telr FETIToT

V). TERT 3= 37Erer

A T — v, 2T —iv, T —iii, § —ii.
B T —ii, AT —1, 5 —iii,g —v.
c T — i, =T —iv, T —v,& — i
D T —iv, 3 —v,g —iii,g - i

E AT UFgT T

Correct Answer A

Marks 1



37 Question Description TR &7 R ATITH ST fleAT e lor?

A aforATaE AT

B HSlT qEA

c AT HTHEAT

E AT fre st
E CEERSE R
Correct Answer D

Marks 1



38 Question Description () . TehETd AN A dF T qicghdid AGYaE FA= diaEr Jufgad a1 378 ATAoed . JT6d
-~ . e ~ ~ ~ .
MATATIAT=T Uil -l ([qaE = AT MTaT G Y &= 9999 arqddr.
(3. “AEST L ITAT TSeAT a2 &T I -AeT - ([qe-A=a= 2=r qrarfa vy 8= 99— aragr.

A SERRELIEICRCLS

B HERRELICIN D

® Tt farae v, gav faaer 9+
D et fara 9, g9 faame aae
E B T

Correct Answer B

Marks 1



39 Question Description 1. ST IR ieenT diesT AT Jdeh]

o & T BT JITBRIT STRUTIAT?

A ferTeT e TR
B ST

c Eseuin

D e

E BT TFFT T

Correct Answer B

Marks 1



40 Question Description FIRUIT (e FATT STear Iae @H=r?

A Aefqe, Taw, TSH e, Taard
B SET-TET, S AT, FAhee, a3l
c AT, FSFS, FART, FIRT
E BT T
Correct Answer C
Marks 1

41 Question Description FIRUT AT HUS 5 (FSITT) ST SRl WA i IFeTe &[T Sei SITTaT STTham deT Sieir?
A T 30, 92§ AT ol o8, 9232
B A or, 92,32, AT AEHT 30, 9253
c AN 28, 9294 AT AN o, 925\
D HNTES 20, 92,23 AT HLHT 30, 9253
E AT TG
Correct Answer A

Marks 1



42 Question Description ARIT INATATAT ATHA A9 A o AT FI=AT?

A GehedeT, TITTRTT 3T fageqsTor
B FTdS, T9[A& AT ATFdT
c G, FIATIT TheT AT SAT-ATST. TheT
D HheA=T, GIETIT AT ITITAT
E A TEFA A
Correct Answer A
Marks 1
43 Question Description T I (=T =1 ST AT ea9IreT 2190 Saraai , ar=T Vo Ardel e Srferer?
A RIS
B AR
c T
D qreTereT
E AT TG
Correct Answer B

Marks 1



44 Question Description fearemia, THiEe o fEarEe ), ‘@feee o wevree, faeama A T TaEaud aEar=AT E@dEn e Jd

A T TS fhdle, BeAlT SR, TT A8, GHHET a9

B TG TANTH hgbdle, Bl T AN, 4T (&St A5, GHET HEd

c AT TSI hch @Iy, [RATT e, ST THET A&, GHHT ST

D T~ TSI b al?, [RellT AT S, ST QR A&, GHET a9

E AT T T

Correct Answer Cc

Marks 1

45 Question Description TTHET AT g = T H9TeAT T A a1 Garyasiia saleq aTA TR I [ad a9 ¥ & JEqdt aia- hidhul SRATars

AT AR AT ITTA HeAauT |iet. ST T ATTes Jie

A FHIUIT HTI TR (36Y.G) T JGITT IR IR (9555

E AIRUT-TGITT TR (95°,3) AT T TR TEZHIIT (22,04)

c T FoRear ((953) ST ST -2 -fAsTa AT (35 ¢0)

D A= A=A =T (95 Y.3) AT aaM=T TR ArAUT (9550)

E A TEFT A

Correct Answer B

Marks 1



46 Question Description TIET IR TSI & GO9I I Al FEIAT?

A ST FAETT
B ST AHw
c [EGIRERCECILS
D I FEAT
E BT TFFT T
Correct Answer A
Marks 1

47 Question Description @ [Roear FAHATTAT ST FAT-=AT ATdhdhdl AR G ol 2 9?
A AT ST (22.5¢)
B ST AT (22,190),
c femesr (g2.0t),
D AT TS (22,94
= AT T T
Correct Answer D

Marks 1



48 Question Description AT THE &JT docdt g =L ATIGHl STHA AT T S eI TR A AT ato (G9rer stH+ 9= RHOT dedl.

T T M THE &JT docald aqda Y I Toae eI Seeil A T9eid [qel 9ol 2@+ AT 9 Tahal Tl Udh

T qVEarars QU A9 AGATd. — & Hd-ATaTaT ST e ?

A T aFTaTe
5 et
& RERUS ]
D AT EATE T I
E AT T
Correct Answer C
Marks 1
49 Question Description TUTST S EEd S 9IS SRl A aTf g cavmes” T T AT —
A TR ATET ST AT ATRLUETEAT=AT [qaEr=T 29T & & HIT AE1d.
B HAT=TIATAT “SATA AT ST TUSAAT TR TS =r e e Hosal.
c AT caTe =T (o =T arfgcaemeaT=ar [aaEr=ar S7ae4T & &= M 79T,
D ST, &I AT ST &l T AT Sehe i asli = SATheA=T AT [GIARIT o AT
E BT THFT T
Correct Answer C

Marks 1



50 Question Description AT SITHS AT aie T &F=4r G9Td S=T ST

. A SHAReS ). FAvcFes ToaFad (2R40)

3T, AY3TH AT ii). ofgIdsT (2933)

T AT WeEH glhe iii). 37 P 3 HAlsel fosFailedd (2r9¢)
. Sgferl Ry oo iv). 37 effic TTedr 3ieg forgPalfead (2:8L)

V). 3 Teg Hieg TEa=Rd Tagidafecad (2]0)

A A. 3T —v, 3 —iv,3 — iii,s — ii.
B B. 3T —ii, 3 —1, S —iii, 3 — V.
c C. T —iil,3M—iv,3—v,3 —ii
D D. 31— iv,31 — v,3 — iii,s - i
E BTl TFd T

Correct Answer B

Marks 1



51

Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We can break mountains apart; we can drain the rivers and flood the valleys. We can turn the most luxurious forests into throwaway
paper products. We can tear apart the great grass cover of the western plains and pour toxic chemicals into the soil and pesticides
onto the fields until the soil is dead and blown away in the wind. We can pollute air with acids, rivers with sewage, the sea with oil-
all this with an intoxication with our power for devastation at an order of magnitude beyond all reckoning. We can invent computers
capable of processing ten million calculations per second. And why? To increase the volume and speed with which we move natural

resources through the consumer economy to the junk pile or waste heap.

Identify a word or phrase from the options given below which implies “being overcome with”
reckoning

magnitude

intoxication

luxurious

None of the above



52 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We can break mountains apart; we can drain the rivers and flood the valleys. We can turn the most luxurious forests into throwaway
paper products. We can tear apart the great grass cover of the western plains and pour toxic chemicals into the soil and pesticides
onto the fields until the soil is dead and blown away in the wind. We can pollute air with acids, rivers with sewage, the sea with oil-
all this with an intoxication with our power for devastation at an order of magnitude beyond all reckoning. We can invent computers
capable of processing ten million calculations per second. And why? To increase the volume and speed with which we move natural

resources through the consumer economy to the junk pile or waste heap.
Identify from the options provided below, the expression used to convey the damage directly caused to nature and environment

devastation

waste heap
beyond all reckoning
junk pile

None of the above



53 Comprehension

Question Description

Correct Answer

Marks

Read the passage and answer the questions below:

We can break mountains apart; we can drain the rivers and flood the valleys. We can turn the most luxurious forests into throwaway
paper products. We can tear apart the great grass cover of the western plains and pour toxic chemicals into the soil and pesticides
onto the fields until the soil is dead and blown away in the wind. We can pollute air with acids, rivers with sewage, the sea with oil-
all this with an intoxication with our power for devastation at an order of magnitude beyond all reckoning. We can invent computers
capable of processing ten million calculations per second. And why? To increase the volume and speed with which we move natural

resources through the consumer economy to the junk pile or waste heap.

“To increase the volume and speed with which we move natural resources through the consumer economy to the junk pile or waste

heap”. This statement is an indictment of
superfast computers

insensitive consumerism

natural resources
junk pile or waste heap

None of the above



54 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We can break mountains apart; we can drain the rivers and flood the valleys. We can turn the most luxurious forests into throwaway
paper products. We can tear apart the great grass cover of the western plains and pour toxic chemicals into the soil and pesticides
onto the fields until the soil is dead and blown away in the wind. We can pollute air with acids, rivers with sewage, the sea with oil-
all this with an intoxication with our power for devastation at an order of magnitude beyond all reckoning. We can invent computers
capable of processing ten million calculations per second. And why? To increase the volume and speed with which we move natural

resources through the consumer economy to the junk pile or waste heap.

From the phrases listed below, select the one which is used in the passage in a non-destructive sense by itself
drain the rivers

break mountains

invent computers

flood the valleys

None of the above



55 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the questions below:

We can break mountains apart; we can drain the rivers and flood the valleys. We can turn the most luxurious forests into throwaway
paper products. We can tear apart the great grass cover of the western plains and pour toxic chemicals into the soil and pesticides
onto the fields until the soil is dead and blown away in the wind. We can pollute air with acids, rivers with sewage, the sea with oil-
all this with an intoxication with our power for devastation at an order of magnitude beyond all reckoning. We can invent computers
capable of processing ten million calculations per second. And why? To increase the volume and speed with which we move natural

resources through the consumer economy to the junk pile or waste heap.

Identify from the options given below, the one that indicates “harmful substances, used to protect food crops from destruction”
toxic chemicals

pesticides

sewage

acids

None of the above



56 Question Description Which countries lead the International Biofuels Alliance?

A India, Brazil, and the United States
B India, Germany, and France
c Brazil, UAE, Nepal
D USA, Bhutan, India
E None of the above
Correct Answer A
Marks 1
57 Question Description Which state defeated Maharashtra to win the Senior Women's 13th National Hockey Championship 2023?
A Uttar Pradesh
B Madhya Pradesh
c Himachal Pradesh
D Arunachal Pradesh
E None of the above
Correct Answer B

Marks 1



58

59

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

What is the country of origin for ULTRASAT, the first telescope mission?
Iran

Iraq

Israel

India

None of the above

C
1

On which date is World Anthropology Day observed every year?
February 16
February 12
February 14
February 10

None of the above

A
1



60 Question Description

61

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Where is India's first Geological Park going to be built?
Bhopal

Shivpuri

Sagar

Jabalpur

None of the above

How many Lok Sabha seats belong to Rajasthan?
32
25
30

17

None of the above



62

63

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

On which state highway was the world's first bamboo crash barrier installed?
Rajasthan

Assam

Maharashtra

Guijarat

None of the above

C
1

With the help of ISRO, in which city of Bhutan was the ground station of the India-Bhutan satellite established?
Paro

Punakha

Thimphu

Jakar

None of the above

C
1



64

65

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Ms. Medha Patkar is closely associated with the
Tehri project

Enron project

Sardar Sarovar project

Dabhol project

None of the above

C
1

When is World Unani Day observed every year?
February 10
February 11
February 05
February 08

None of the above



66 Question Description Directions: Read the following information carefully and answer the questions given beside.
In a certain code language “hunger and poverty remain” is coded as “ner gup jil mub”, “people count poverty records” is coded as “

abc gup xyz def” , “count remain unchanged records” is coded as “buf ner def xyz”, “people and poverty rate” is coded as “abc mub
for gup”.

What is the code for "poverty unchanged'?

A buf jil

B buf ner

c ner gup

D gup buf

E None of the above
Correct Answer D

Marks 1



67 Question Description Directions: Read the following information carefully and answer the questions given beside.

G is the mother of F, who is the spouse of D. M is the daughter of D, who is the only brother of C. E is the son of G, who
is married to H. A is the niece of C, who has no sister and is unmarried. T is the father of D and has no daughter. V is
the sister-in-law of F. G has only two children. M is the granddaughter of O.

How is F's mother-in-law related to T?

A Sister

B Father

c Wife

D Brother

E None of the above
Correct Answer C

Marks 1



68 Question Description Find missing numbers?

36| 6|9 |13

88 (11| 9 | 2

1200 2 | 6 | 18

A 54,41

B 17,82

(@ 17,10

D 96,13

E None of the above
Correct Answer C

Marks 1



69 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.
DELTOID : MUSCLE

A radius : bone

B brain : nerve

c tissue : organ

D blood : vein

E None of the above
Correct Answer A

Marks 1



70 Question Description

Correct Answer

Marks

Directions : Each of the following consists of a question and two statements numbered | and Il given below it. You have
to decide whether the data provided in the statements are sufficient to answer the question.

A teacher wrote a meaningful English word on the black-board. Find the exactly middle letter of the 5 letter word?

Statement | : The first and last letter of the word is ‘E’. The second and fourth letters of the word are consecutive letters
in English alphabet series. R is adjacent to A.

Statement Il : The first and last vowel is same. Only one letter is placed between A and E. S is written after R. The
vowels are placed at odd numbered positions.

If the data in statement | is sufficient to answer the question

If the data in statement Il is sufficient to answer the question.

If the data in either statement | or statement Il is sufficient to answer the question.
If the data in both statement | and statement Il is necessary to answer the question.

None of the above

C
1



71 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::" while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options.

pongee : Silk : : Shallot : ?

A Boat

B Building

c Ship

D Stream

E None of the above
Correct Answer A

Marks 1



72 Question Description

Correct Answer

Marks

Directions: Read the following information carefully and answer the questions given beside.

In a city, SRK Mall was to the north-west of Cosmos Mall. Shanti Mall was in the east of SRK Mall which was towards
the south of TDI Mall. Saket Mall was towards the south-west of Shanti Mall such that it was situated towards the east of
Cosmos Mall. DB Mall was 20 km towards the north of Cosmos Mall, which was 4 times the distance between Cosmos
Mall and Saket Mall. Rajan Mall was the mid point between SRK Mall and Shanti Mall and also Cosmos Mall and DB
Mall.The distance between TDI Mall and SRK Mall was half of the distance between DB Mall and Rajan Mall.

If the straight distance between the SRK Mall and the Shanti Mall is 14 km, what total distance one needs to cover if
one travels from SRK Mall to Saket Mall via Rajan Mall and Cosmos Mall?

16km
20km
21km
22km

None of the above



73 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::' while another word is to be found from the given options, having the same
relation with this word as the words of the given pair . Choose the correct word from the following options..

SHI :RIJ : QJK : ?

A TDE

B PKL

e UGH

D VPQ

E None of the above
Correct Answer B

Marks 1



74 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of '::' . One
part is given on another side of '::' while another part is to be found from the given options, having the same relation with
this part as the parts of the given pair . Choose the correct part from the following options.

91:7::64:54
A 63
B 101
c 32
D 70
E None of the above
Correct Answer A

Marks 1



75 Question Description Directions: Read the following information carefully and answer the questions given beside.

Certain number of persons (that does not exceed 15) are standing in a straight linear row facing towards the north. 5 persons stand
between B and E, who is third to the left of A. U is to the right of A. Not more than 3 persons stand between U and T. B is third to
the left of U. I is fifth to the right of T. 2 persons stand between E and F, who is sitting at the extreme left end of the row.. Three
persons stand between A and L, who is towards the right of E.

What is the position of E with respect to L?

A 4th to the left

B 7th to the left

c 6th to the right

D 5th to the left

E None of the above
Correct Answer B

Marks 1



